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50 Ball thrown from above the ground

A ball is thrown vertically upwards, leaving the hand at a height of 1.2m above the ground.
It hits the ground 2.5s after leaving the hand. (131Sp2023)

a) Determine the speed with which the ball left the hand.

b) Determine the maximum height above the ground reached by the ball!
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63 Vector addition: algebraic method, 2 Y

Two displacement vectors, A and B are illus- # i
trated. Determine the magnitude of C = A+B. |
(1318p2023) ;
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103 Stone thrown from a bridge

A person stands on a bridge over a small lake. The person throws a stone with speed 18.0m/s =~

at an angle of 40° above the horizontal. The stone leaves the hand at a height 3.0m above
the surface of the water.

a) Determine the time taken for the stone to reach the highest point in its trajectory.
b) Determine the time taken for the stone to hit the water.

¢) Determine the horizontal distance traveled by the stone between the throw and when it
hits the water.
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